Polar Coordinates Review 
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1.  Change to rectangular coordinates:  
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2.  Change to polar coordinates:
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3.  Write the following in rectangular coordinates:

     a)  
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4.  Write the following in polar coordinates:
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5.  Sketch the following curves in polar coordinates:
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6.  Write each complex number in polar form:
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7.  Write 
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 in rectangular form:

8.  Find the product of:  
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16

6

8

2

cis

cis

p

p

æö

ç÷

èø

æö

ç÷

èø


10. If 
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, show that 
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11.   Find the three cube roots of 
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12. Find the square roots of 
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and leave in complex polar form.
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Polar Coordinates Review 1: KEY
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